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= i=l1
(- )@z T RE & X (null hypothesis)
H, : B, =B, =02 %8 #A 174 (ANOVA table) : (1)~(8)

% i v UL =7 F
(degree of freedom) | ( sum of squares) | (mean square)
i j7 (Regression) 2 (3) (6) (8)
=ES
(Error) (D (4) (D
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(ODE 1i=1,2,--,10 » {HFM :n=9 > FEHEK  n= 9%
(2)ANOVA table : HEEMEBREE T2 R0 < fEH, : B; =0
REEME Ho ' Bo=PB1 =0
(3)ANOVA table : SSREHE= 1> ~FE2

xifH Vi [ 4 FI
90 81 83 n, =2 T,. = 164
66 68 60 62 n, =3 T,. = 190
51 60 64 ns = 2 T,. = 124
35 51 53 n, =2 T,. = 104
il n=9 T.. = 582
SSTO = i, ¥, Y2 — j = 38624 — % =988
(EHE IS XL, Y = XL, Y7 = 44249)
SSR = SSTO — SSE = 988 — 118.44 = 869.56
(1) ANOVA table :
KR df SS MS F
B 1 869.56 869.56 51.39
e |7 118.44 16.92
Gyl 8 988
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(n—k)
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(T)SSP = i, Bt Y — 2{;1% = 38624 — 38577.3333 = 46.6667

SSL = SSE — SSP = 118.44 — 46.6667 = 71.7733
SSL/(k—2) _ 71.7733/(4 — 2)
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¥R (54)
LT a=0.05 0 ¥t E % T
Hy : B, +120 versus Hy : B, +1<0 - (104 )
(typ05 =2.92 > t) 0005 =4.303 0t 505 =6.314 > 1,5 =12.706 )
()% 2 a=005 - f|* Fiz* &4 2
H, : By=PB; =B, =0 versus H, : B, #0 or B;#0 or B, #0 - (104 )
(FS,I,O.OS =216 > 3005 =19.2 0 Fy 1005 =200 > Fy 5005 =19 )
(F)E NP 295%2 BT o (54 )
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Y1y 10
100
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